BAR SCHEDULE E 3
e
DOME CAP TOTAL
MARK SIZE  QUANTITY LENGTH LENGTH TIYPE B <
1| 4 4 9-0 36-0 | sm®
3/8"X 2-1/2° HEX Z [ 4 |ZSEISOF | 2-9 10 3-5 | 18-6 | SIR.
BOLTS 3/8"X 3" HEX BOLTS 3 BARS | ©0-4 INCR. |
3 | 4 |2 SETS OF | 5-10 TO 8-6 | 43-0 21 | 0-7 10 3-3 5-3
5 BARS | © 1-4 INCR. ©1-4 INCR.
2 | 4 2 5-8 11-0 | SW. =
% : }% ﬂ am_-o _ZTSTR' 1=0 3=7 g’
134" NOMINAL DIA. = = = =
TOP RAIL ——— RAIL END FITTING 4 24 48 T12-0 | SR
RAIL END BAND 4 |2 SETS OF | 5-0 T0 10-0 | 240-0 | SIR-
16 BARS | © 0—4 INCR. 3 3
POST 9 [ 4 T2 T0-4 124-0 | _STE- LN % 3
10 | 4 |2 SETS OF | 9-10 TO 19-2| 2324 | 21 5-3 4=7 70 1311 -B-E-EJ
8 BARS | © 1-4 INCR. ©1-4 INCR.
| 4 8 27-3 218-0 | 21 5-3 22-0
12 | 4 2 14-6 20-0 | SIR.
TOP RAIL AND FITTING 3 2 12 rary T1e0 | 21 o Py
14 | 4 12 28-2 338-0 | 21 3-0 25-27
15 | 4 10 7-0 70-0 21 1-9 5-3
16 | 4 38 10-8 405-4 | 17 1-0 8-8 &
. 17 | 4 26 1-10 47-8 | SW.
g_r EEE'%QTL ?;',%“a) 18 4 3 21-10 131-0 | STR. L
T 4 10 10-11 TO9=Z 21 32 7-8 e
I 3/16" DRAIN HOLE o
1/2°X 8”X 6" (A36) GALVANIZED
EEL PLATE 4s8) BASE PLATE 5/8" DIA. ANCHOR BOLT (A36) TOTAL LENGTH _2377-10 I
W/ HEX NUTS & WASHERS TOTAL WEIGHT __1588 T
135" = 3/186 2* (MIN) THREAD n %
1 2
POST o<t
\ Fany 4 o
tr Oan L
AY 5 5 %
! . Sa
J =
4
1O o 3™
X
B |i . BAR TYPES =
3 ¢ 3/4" HOLES L
>
BASE PLATE DETAIL POST DETAIL STRAIGHT ,'; l', _El— 4
STR 1 I} 1
GUARDRAIL DETAILS | c I I ¢ )
TYPE 21 TYPE 17
]
V")
GUARDRAIL NOTES: 2
u S
1. HOLES DRILLED IN THE POST PLATE FOR THE 5/8° HEX & ANCHOR BOLTS x t
SHALL BE NO MORE THAN 1/8 OVERSIZED AFTER GALVANIZING. 8
2. STEEL POST PLATES SHALL BE FABRICATED, HOLES DRILLED, & WELDED TO UANTITIES Z S
POST PRIOR TO GALVANIZING AS PER ASTM A123. QUANTITIES g
3. ALL ANCHOR & HEX BOLTS, NUTS, WASHERS, AND OTHER HARDWARE SHALL BE ITEM UNIT QUANTITY < §
GALVANIZED STEEL, IN ACCORDANCE WITH CONSTRUCTION SPECIFICATION 582. CONCRETE cuD. 18.4 Q g
4. ALL FIELD CUTS OR DRILL HOLES IN THE GALVANIZED STEEL POSTS OR =
RAILS SHALL BE PAINTED WITH A COLD GALVANIZING COMPOUND. STEEL REINFORCEMENT Les. 1588 7] K
S AL LR S e i pe o T —il;
oR 5/8"X 8.5" ANCHOR BOLTS SHALL BE SET INTO 11/16°X 7J§ :HOLES DRILLED TASE PATE - P e *
- : . TOP RAIL FROM (CENTERLINE TO
INTO EXISTING CONCRETE & FASTENED W/ “HILTI HVA ADHESIVE ANCHORING
INTO [EXISTING CONCRETE / CENTERLINE OF POSTS) IN. FT. 62

6. AT THE CONTRACTORS OPTION, A CONTINUOUS TOP RAIL WITH LOOP CAPS ON
INTERMEDIATE POSTS, CAN BE USED.




